Problem 1c : About your favourite web site.

What is the URL that gives you a direct (R1) to yfavourite web site? www.(R2).
What is the neologism to name the membership oLédtique (R3)? (R4).

To begin well in our game, we propose you to lehenJCK (R5).

What does JCK mean? (R6).

To access to the (R7) space one have to enter (R@Jsand one’s (R9).

From which (R10) does the word “motoki” originat@?11).

What is the (R12) of the word “motoki™? (R13).

(R4): ? (cj-dj-ej-fi-gj-hj-xI-yl-zl-am-bm)

(R6): ? (ai-bi-Ci-di-ei-fi-gi-hi-ii-ji-ki-li-mi-ni- oi-pi-gi-ri-si-ti-ui)

(R11): ? (cj-0j-pj-gi-fi-si-t) __ (R5): ? (ujrvj-wj-xj-yi) ___ (R10): ? (cj-zj-ak-bk-ck-dk-eloi)

(R8): ? (tk-gk-oi-hk-ik-jk-kk-Ik) _ (R9): sesa(mk-nk-ok-pk-gk-rk-sk-tk)

(R7): constituents (uk-vk-wk-xk-yk-zk-pk-al-bl)cl (R12): from one to another (ki-dl-el-fl-gl-HHi-kI-Il-ml)




(R13): ? (nl-ol-pl-gl-rl-sl-dl-el-ti-tl-ul-vl)

Unused letter in the puzzle (1c) and conversion of the Jokers char acters:

The unused letter in the puzzle (1c) istheletter (Z).
The Jokerscharactersaswell astheletter (Z) present in the answersto theriddles will
be converted likethis: (0)=V ; (1)=X; ()=V; (-)=V ; theletter Z aswell asthe other

jokerswill bereplaced by the letter (Q).
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(Création : ksludotique.com)




